Parts Information:
EA LE Laser Wheel Alignment Gauge
Model No: GA50V2

PPS 103 PPS106 PPS 104
\ / i PPS 106 pps 104

PPS 33

| PPS 103
6> ®
PPS 101 PPS 26 @
| s
il - PPS 101 —
I '\\; / PPS 77
PPS 103 \I‘ | - S
e
\ PPS 102 PPS 28 &
PPS 106 ~
—_— o < Pps107
e 25 e PPS27

PPS 106

PPS 1550

I

PPS 33 PPS 104 PPS 26

/ @rﬂ S

PPS 33 ! \
N‘“ e PPS101 PPS 103

—— PP3 1116
ol o PPS 218

o e—— PPS 115
PPS 28 .__ PPS 46
PPS 150
—

Prs1a5. ®  pps14s
Sr §e—— PPS 11 PPS 143 ——a g

= i e T e
? o PPS120 j /D’
S PPS117 @zpp“z
.. Frse
< PPS107 T~

/¢ | ’ PPS 111
i @—- "~ pps 1551

PPS 77 — o P
pPs 150 —*

alls
PPS 101

X *—PPS 1112
PPS 102

Item Part No. Description Item Part No. Description

PPS1 GA50/PPSTI KNOB PPS118 | GA50/PPS118 TOP DIAL

PPS24 | GA50/PPS24 LENS PPS119 | GA50/PPS119 LOWER DIAL

PPS26 | GA50/PPS26 TIE BAR PPS120 | GA50/PPS120 SPACER WASHER

PPS27 | GA50/PPS27 BAR PEG PPS143 | FWM4.S FLAT WASHER M4 SINGLE

PPS28 | GA50/PPS28 MAIN BAR PPS145 | GA50/PPS145 M3 X 8 P/H SCREW

PPS30 | GA50/PPS30 TRUARC S/LOC RING PPS146 | GA50/PPS146 M3 STANDARD WASHER

PPS33 | GA50/PPS33 M8 X 30 THUMB SCREW PPS148 | NLN3.S NYLOC NUT M3 ZINC DIN 985 (SINGLE)
PPS34 | GA50/PPS34 M8 X 10 GRUB SCREW PPS150 | GA50.PPS150 PAN HEAD MACHINE SCREW M4X12 (SLOT)
PPS42 | GA50/PPS42 M3 X 8 C/S SCREW PPS218 | GA50/PPS218 LEVEL VIAL

PPS46 | SN3.SW WING NUT M3 (SINGLE) PPS303 | GA50.PPS303 BATTERY TRAY

PPS77 | GA50/PPS77 M8 X 20 THUMB SCREW PPS1109 | GA50.PPS1109 MIRROR BODY

PPS101 | GA50/PPS101 ARM PPS1112 | GA50.PPS1N2 MIRROR GLASS

PPS102 | GA50/PPS102 FOOT ASSEMBLY PPS1116 | GA50.PPS1116 GUIDE STRIP

PPS103 | GA50/PPS103 CONTACT BAR PPS1550 | GA50.PPS1550 MIRROR FRAME ASS'Y (COMPLETE)
PPS104 | GA50/PPS104 STRAP PPS1551 | GA50.PPS1551 LASER HEAD ASS'Y (COMPLETE)
PPS106 | GA50/PPS106 NYLON CAP - GA50/PPST13 LOGO LABEL LARGE (NOT SHOWN)
PPS107 | GA50/PPS107 BALANCE LEG - GA50/PPS131 LASER WARNING LABEL (NOT SHOWN)
PPS11 | GA50.PPS111 TARGET PLATE - GA50/PPS135 LOGO SMALL LABEL (NOT SHOWN)
PPS112A | GA50.PPS112A MIRROR CLIP - GA50/PPS141 AA BATTERY (NOT SHOWN)

PPS115 | GA50/PPS115 SCALE PLATE - GA50/PPS144 SHIPMENT CARTON (NOT SHOWN)
PPS117 | GA50/PPS117 M3 TAPPED PLATE

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of product.
WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

Sealey Group, Kempson Way, Suffolk Business Park, Bury St Edmunds, Suffolk. IP32 7AR

I 01284 757500 | .ﬁ 01284 703534 | @ sales@sealey.co.uk | www.sealey.co.uk

Page 10f1 GA50V2 Issue 2 PL 15/02/18




